LOWENSTEIN

(FEA A

BHESHBEHT/HTR-HTC/HTCRES!




LASWENSTEIN

fTEiRiESE HT/HTR &%l
R

= SHE

" SRE/ARER

« HABRE

u ALRIIRMESD

» EHERS

w RS

« RET

= BERE=SHERE (TF)

HTZ5

~ -
o

HTRZS1 HTCRZSF
TTEHES
HT090 ] 005.5( / MOTOR
HTR090 i 005.5() / MOTOR

MOTOR: ZBUF1ELS

TREELE

HT/HTC (8275) : 4/55

HT/HTC (%) : 16/20/22/275/28/385/40/55

HT/HTC (375) : 64/88/100/110/140/154 /160 /200 /220 /280 / 400

HTR/HTCR 25): 4/55/8/11
HTR/HTCR 2%5):  16/20/22/27.5/28/385/40/55
HTR/HTCR (3 ¥5):  64/88/100/110/137.5/140/154/160/200/ 220/ 280/ 385
HTR/HTC (4 75): 400/440/550/700/ 770/ 1000/ 1078 / 1400/ 1540 /
1600/ 2000 / 2695 / 2800 / 3850 / 4000 / 5500

IR RIRIRT

HT 090/110/140/200/ 255/ 285/ 355/ 450
HTC 090/110/140/200/ 255 /285 /355 /450
HTR 090/110/140/200/255/285/355/450
HTCR 090/110/140/200/255/285/355/450



LOWENSTEIN

HT/HTC &5-1488

AR
- s o HT /HTC | HT/HTC | HT/HTC | HT/HTC | HT/HTC | HT/HTC | HT/HTC | HT/HTC
== = 090 110 140 200 255 285 355 450
205 505 790 1885 2920 5380
5 5 230 435 735 1635 2535 4580 8300 16050
16 300 530 895 1980 3055 5615 - -
20 300 535 900 1995 3080 5660 - -
22 240 460 770 1710 2640 4755 8565 16430
: 275 240 460 775 1720 2660 4785 8620 16530
28 250 540 910 2015 3110 5720 - -
385 245 465 785 1740 2690 4830 8700 16680
40 9 225 650 1610 3145 5780 - -
55 130 315 795 1740 2715 4875 8775 16830
BiEmH TN 64 310 500 930 2060 3180 5840 ; B
88 250 470 800 1780 2720 4920 8830 16930
100 315 560 945 2085 3215 5910 - -
110 250 475 810 1790 2760 4945 8875 17020
140 315 565 950 2105 3245 5965 - -
Nm 3 154 250 480 815 1805 2785 4980 8940 17150
160 210 385 915 2110 3255 5985 - -
200 265 480 960 2125 3270 6020 . ]
220 255 480 825 1820 2810 5020 9010 17275
280 250 575 970 2140 3300 6070 - -
400 100 235 980 2160 330 6120 ) _
BARREHETnor Nm 1,23 | 4~400 3fﬁ§ﬁzE§ﬂJtH7]%ET2N
S NENETs Nm 1,23 4~400 1. 5{ﬁ§ﬁZE$ijjJ§ETzN
1 4~55 15 25 71 14 28 42 75
ZSEEEG Nm 2 16~55 0.6 1.1 3.7 8 12 18 17 26
3 64~400 0.35 0.7 16 4 45 6.5 6 12
NN ~).. <
I arcmin 2,1 3 12~5430 < ;
TREENIME Nm/arcmin| 123 4~400 42 95 205 650 1200 1800 2850 5700
1 4~55 3600 3600 3000 2700 2400 2100 1500 1000
SRR NEEERN rom 2 16~55 4600 4600 4000 3700 3400 3100 2500 2000
3 64~400 5000 5000 4600 4000 3700 3400 3100 2500
1 4~55 6000 6000 5000 4500 4000 3500 3000 2000
BRAIINEEIEN 5 . 2 16~55 7000 7000 6000 5500 5000 4500 4000 3500
3 64~400 7000 7000 7000 6000 5500 5000 4500 4000
B GEF,, @ N 1,23 4~400 2220 4070 8530 17000 26900 39200 101500 | 143700
BASHIIEM,y @ Nm 1,23 4~400 280 480 1310 3530 5920 9230 29100 63300
ERER© hr 1,23 4~400 20000
fHEFEE °oC 1,23 4~400 -10°C ~ 90°C
PR 1,23 4~400 1P65
e 1,23 4~400 BRGEERE
RET5H 1 4~55 F=Aw
1 4~55 <59 <64 <66 <66 < 68 < 68 <68 <70
P dBA) 2 16~55 <60 <62 <64 <66 <67 <67 <68 <70
3 64~400 <60 <62 <64 <66 <66 <67 <67 <68
1 4~55 > 97%
BE N % 2 16~55 > 94%
° 3 64~400 > 92%

(1) IRGEREE (1 =Nin/Now)
(2) dBERHBAESS5.5H(—) | 55(:13) 220(=%) foREl, TE3000RPMEFERAFFRNIEE FLRERIER TUETS.
B BRATLLEF/BARSAIRPM,  IRFS/KFRIRERE3ZE5dB,
(3) EIFRIEIRR A2 YHIEE R IFET,, PG :

(@) L1 00rpmit, fERTHEZ/MISEETL, HEARBESEE! - _+Fea| -Foa |
(5) FENGESIERERN A /—\,—
DA | EXIL Y
ST EEM ' \ Far
Mx:  (Nm) N
Mo, = F2,xY + F2, x (X + Z2) F2a.F25: (N) K
2K — 1 OOO XYZZ (mm) Y ;
g | SaP
HT/HTR | 090 110 140 200 255 285 355 450 T
Z2 (mm) | 845 1062 90 1228 | 1332 | 1755 | 2206 | 2753 | 2 |ox | E—




LASWENSTEIN

HT/HTC R5I-Ritg

HT/HTC HT/HTC HT/HTC HT/HTC H/HTCT HT/HTC | HT/HTC | HT/HTC
090 110 140 200 255 285 355 450
T 11
14 042(021|019| - | - (021 - | - | - | - | -} -] - | -|-|-|-|-]-/|-|-1-
19 066 06 - 184066 06 - | - 066 - - - | - - - o oo oo
2 304| - | - |411|394| - [48V|4n1f304| - | - famt| - | - | - | - | - - - | -| - | -
28 - - - |sa8| - - ®Misug o - L o5gg - - 814 L
4 -l -] - |736| - | - |8V7|736| - | - |8a7|73e| - | - BV - | - - | - | - - | -
kg -cm?

35 S o aoa - - 15541404 - V7545541404 - V77571554 715 o
38 Lo s el - - 181960 L (2017510 e gq| - 120171819 (53662017 | 2017 | |y
42 S B2 L 54 ,,, 2888 254 . | _ laggg 254 2879 254 . rgos
48 A R R O I R 27 R AT [ 58645518 _ | 6978 5864 55189276 551810606 55 64
55 e e e e e T - - 9248 - | - [10422/go48 - 10541 - (11867 -
60 - _l2ree | L | . 2137



LOWENSTEIN

HT&RSI-RY

L4 L2 D8 (Wx)
L3 D6 (2x)

HT 090 HT 110 HT 140 HT 200 HT 255 HT 285 HT 355 HT 450
40 50 80 100 100 120 155

D1h7 315
D2 50 63 80 125 140 160 200 250
D3 h7 63 80 100 160 180 200 250 315
D4 h7 90 110 140 200 255 285 355 450
D5 109 135 168 233 280 310 385 490
D6 x Pitchx Deep | M6x1Px11 M8x1.25Px12 | M8x1.25Px15 | M10x1.5Px20 M16x2Px25 M24x3Px37 M24x3Px32 M30x3.5Px40
D7 120 147 180 249.5 302 332 415 530
D8 55 55 6.6 9 13.5 13.5 175 22
L1 15 15 15 16 16 16 35 24
L2 30 29 38 50 66 75 80 85
L3 7 7 75 85 13.5 16.5 20 20
L4 7 8 10 12 18 20 45 60
X() 30 30 22.5 22.5 24 26 22.5 30
Y () 30 30 22.5 22.5 24 26 22.5 30
z 12 12 16 16 12 12 16 12
u(®) 22.5 22.5 15 15 11.25 11.25 15 15
W 16 16 24 24 32 32 24 24
(1) RTEEENMEEX.

37 5



HTC&%I-R~T

'
1
'
|
1
1
]
.

. a‘
—
'
| S

L2

@D1
@D3
@D4 h7

@D7

LAWENSTEIN

HTC 090 HTC 110 HTC140 HTC 200 HTC 255 HTC 285 HTC 355 HTC 450
D1 36 46 60 80 90 120 120 132
D3 63 80 100 160 180 200 250 315
D4 h7 90 110 140 200 255 285 355 450
D5 109 135 168 233 280 310 385 490
D6 - - - - M12 M12 M16 M16
D7 120 147 180 249.5 302 332 415 530
D8 5.5 5.5 6.6 9 135 13:5 1.5 22
L2 325 3L5 40.5 525 68.5 15 82.5 875
L3 9.5 9.5 10 11 16 19 225 225
L4 T 8 10 12 18 20 45 60
U () 225 225 15 15 1L25 .25 15 15
W 16 16 24 24 32 32 24 24
(1) RI55ZETEE*.



LOWENSTEIN

HTR/HTCR & %l-148E

AR
g HTR/HTCR
e e T v o
255 528 1800 2015 3935
255 528 1800 2015 3935 ]
22 245 465 780 1740 2685 4815 8670 )
5 275 245 465 785 1750 2700 4840 8720 )
28 240 480 848 1800 1872 3600 ) ]
385 245 470 795 1770 2574 4885 8795 )
40 192 408 816 1725 1728 2880 ] )
55 250 475 805 1785 2376 3790 7260 )
64 ] 565 845 2080 3220 5815 ) )
88 ) 480 815 1800 2185 4970 8910 17020
100 ) 565 845 2105 3260 5815 ) )
110 ] 480 820 1810 2800 4990 8950 17150
1375 ) 480 825 1820 2815 5020 8995 17190
5 140 ) 565 840 2125 3285 5815 ) )
154 ] 485 825 1825 2820 5035 8580 16500
160 ) 565 845 2130 3295 5760 ) ]
200 ) 565 845 2145 3315 5815 ] ]
220 ] 490 835 1840 2850 5070 7920 13200
FEMH TN Nm 280 - 540 845 2160 3345 815 - -
385 ) 495 850 1845 2890 5130 9195 14565
400 ] 565 845 2155 3320 5815 ) )
440 ] 450 835 1840 2840 5060 9070 17335
500 ) 565 845 2165 3340 5815 ) ]
550 ] 490 845 1860 2870 5110 9155 17485
700 ] 590 995 2185 3370 6195 ) )
770 ) 495 850 1870 2895 5150 9225 17600
1000 ) 565 810 2205 3400 5815 ] )
1078 ] 500 860 1890 2920 5180 8580 16500
4 1400 ) 540 845 2220 3430 5815 ) ]
1540 ] 500 870 1910 2945 5220 7920 13200
1600 ) 565 845 2225 3435 5760 ; _
2000 ] 565 810 2240 3455 5815 ] )
2695 ] 510 880 1935 2980 5275 9440 18015
2800 ) 540 845 2025 3480 5815 ) )
3850 ] 510 980 1610 2995 5365 9585 18245
4000 ) 225 650 1840 3515 5815 ) ]
5500 ] 315 895 1980 3110 5515 9825 18715
BRASEIETnvor  Nm 2,3,4 16~5500 2{EEERHI5E Ton
BRANIES T Nm 2,3,4 | 16~5500 1.5(ZEEimE 0% Ton
B 4~55 13 5 31 6 13 16 20 )
SHIE Nm 3 | 64~385 _ 14 24 46 7 85 105 13
4 | 400~5500 _ 02 03 06 09 12 18 25
BN arcmin 2,34 16~5500 <2
2 16~55 27 56 112 389 642 1275 2500 _
R MU 3 64~385 ) 56 112 389 642 1275 2500 5100
4 400~5500 _ 45 85 310 535 1050 1700 2700
2 16~55 3000 2800 2700 2200 2100 2000 1600 )
FEHNEEEN  pm 3 | 64~385 ) 3000 2800 2700 2200 2100 2100 2000
4 | 400~5500 ; 5500 4600 4600 4000 3700 3700 3400
5 16~55 6000 6000 4500 4500 4000 3000 2500 )
BABNGEEN,  rpm 3 | 64~385 ; 6000 6000 4500 4500 4000 4000 3000
4 400~5500 - 7000 7000 7000 6000 5500 5500 5000
BAWMAREF,® N 3,4 16~5500 @ 2220 4070 8530 17000 | 26900 | 39200 | 101500 = 143700
BASHAEMAY  Nm 234 16~5500 @ 280 480 1310 3530 5920 9230 29100 | 63300
(EFEERO hr 234 16~5500 20000
ERERE oC 234 16~5500 -10°C ~ 90°C
GiEaE 234 16~5500 P65
o8 234 16~5500 amEE
2[R 234 16~5500 e velc)
B EO dB(A) 234 16~5500 <68 <68 < 68 <70 <70 <72 <74 <76
2 16~55 > 94%
2N % 3 | 64~385 > 92%
4 | 400~5500 > 90%

(1) BIEEL(1=Nin/Nouy)
(2) dBIERHEABLSS5LL(ZT) | 385(:13) 85500(PY5) RYIRGEYL, FE3000RPMERERAMRREEINEE T ARAHAER FUETS.
B BRATLLEF/BARSHIRPM,  IRFS/KFRIRERE3ZE5dB,
(3) EREARRIE2 %HIBERILHSIRET 2n TG | (4) IHEEE100rpmid, (ERTE=/MEIRETL, HEATESERIN | (5) MENESEHENA



LOWENSTEIN

HTR090 HTR1 10 HTR140 HTR 200 HTR 255 HTR 285 HTR355 HTR450

o \HEEZ(C3) --------
8

N AR 3
- - - 07| - -] - . - . . = =i - - -] - -] - -
14 0.37 - 1037 . R - 042 . - - - - - R R - - - - - -
19 06 161 06| - - 161066 - | - 18 - | - | - | - - o | - o -
24 -39 - 401 39 1394 - 401 419 - - 4G L L
28 ; _ ; 553|515 _ - 553 . _ | 561|614 _ _ } ; ; _ _ _
kg -cm? . :
32 J - - |- 757 | - - 811757 - - 1811817 _ - - - - - - .
35 . - 1495 - - 1532|1495 - |1532/1532/1554| _ 15321554 _ _ 1554/ _ 1776
38 - |- 1758 - - 1772|1758 - 1772|1772 1819/1852/1772/1819| - |17.72/18.19/18.52/ 20.17
2; : - S - | - |2205] - 295 - | - ég Zg 22.9523.2 525554 2295232 2374 5255148
p: - - | - - - | - |5274| - 52.74| - - |3734|52.74|5242| 35" 5274|5242 |53.49| >

L7 L6 L2
L4 [EN
EﬂT
ﬁ ~ =
g B o
= i (- Y
3 < 8
= sgg:a
femy
A,
o
3
LT

T
|IC]

S e B

HTR 090 HTR 110 HTR 140 HTR 200 HTR 255 HTR 285 HTR 355

D1 h
D2 50 63 80 125 140 160 200
D3 h7 63 80 100 160 180 200 250
D4 h7 90 110 140 200 255 285 355
D5 109 135 168 233 280 310 385
D6xPitchxDeep |~ M6x1Px11 M8x1.25Px12 M8x1.25Px15 M10x1.5Px20 M16x2Px25 M24x3Px37 M24x3Px32
D7 120 147 180 2495 302 332 415
D8 55 55 6.6 9 135 135 175
D9 94 116 163 210 210 255 300
L1 15 15 15 16 16 16 35
L2 30 29 38 50 66 75 80
L3 7 7 75 85 13.5 16.5 20
L4 7 8 10 12 18 20 45
L5 13 17 25 31 31 36 43
L6 90.5 14 1475 175 1915 2495 290
L7 53 68.3 89 115 15 131 165
L8 1735 2113 2745 340 3725 4555 535
L9 1145 129 1735 228 228 265.5 294.5
X () 30 30 225 225 24 26 22.5
Y () 30 30 22,5 22,5 24 26 22,5
z 12 12 16 16 12 12 16
U 22.5 225 15 15 11.25 11.25 15
W 16 16 24 24 32 32 24
() RIEEANEEX

(2) IF=ZENEBESEHTES



LOWENSTEIN

HTREM(=T5, miELLi=64~385) -RT

L8
L7 L6 L2 @D8 (Wx)
L4 13
—_—
(
(. :mi
~1 o~
& g W= - P
= RS
= = =
(=
\_
[=)]
- L
L1
:" _ﬂ; (1)
1 I
'

HTR 110 HTR 140 HTR 200 HTR 255 HTR 285 HTR 355 HTR 450
40 50 80 100 100

D1 h7 120 155
D2 63 80 125 140 160 200 250
D3 h7 80 100 160 180 200 250 315
D4 h7 110 140 200 255 285 355 450
D5 135 168 233 280 310 385 490
D6 x Pitch x Deep M8x1.25Px12 M8x1.25Px15 M10x1.5Px20 M16x2Px25 M24x3Px37 M24x3Px32 M30x3.5Px40
D7 147 180 249.5 302 332 415 530
D8 55 6.6 9 13.5 13.5 175 22
D9 94 116 163 210 210 210 255
L1 15 15 16 16 16 35 24
L2 29 38 50 66 75 80 85
L3 7 7.5 85 13.5 16.5 20 20
L4 8 10 12 18 20 45 60
L5 13 17 25 31 31 31 36
L6 132 164 216.5 254.5 300 332 447.5
L7 53 68.3 89 115 115 115 131
L8 214 270.3 3555 435.5 490 527 663.5
L9 1145 129 1735 228 228 228 265.5
X() 30 22.5 22.5 24 26 22.5 30
Y () 30 22.5 22.5 24 26 22.5 30
z 12 16 16 12 12 16 12
ue) 22.5 15 15 11.25 11.25 15 15
w 16 24 24 32 32 24 24
(1) RIEEENEEX

() EF=NEBESEHTRS



LOWENSTEIN

HTRFEFU(IUTS, mkazELbi=400~5500) -R~

L8
L7 L6 L2
L4 L3

#D3 h7
@04 h7
@D7

D9
~
I
gD1 H7,

H

L9

(1)

©

[P ] s

HTR 110 HTR 140 HTR 200 HTR 255 HTR 285 HTR 355 HTR 450
40 50 80 100 100

D1 h7 120 155
D2 63 80 125 140 160 200 250
D3 h7 80 ! 100 160 180 200 250 315
D4 h7 110 140 200 255 285 355 450
D5 135 168 233 280 310 385 490
D6 x Pitch x Deep M8x1.25Px12 M8x1.25Px15 M10x1.5Px20 M16x2Px25 M24x3Px37 M24x3Px32 M30x3.5Px40
D7 147 180 2495 302 332 415 530
D8 55 6.6 9 13.5 13.5 175 22
D9 94 116 163 210 210 210 255
L1 15 15 16 16 16 35 24
L2 29 38 50 66 75 80 85
L3 7 7.5 85 13.5 16.5 20 20
L4 8 10 12 18 20 45 60
L5 13 17 25 31 31 31 36
L6 132 164 216.5 254.5 300 332 447.5
L7 53 68.3 89 115 115 115 131
L8 214 270.3 355.5 4355 490 527 663.5
L9 114.5 129 1735 228 228 228 265.5
X() 30 22.5 22.5 24 26 22.5 30
Y () 30 22.5 22.5 24 26 22.5 30
z 12 16 16 12 12 16 12
ue) 22.5 15 15 11.25 11.25 15 15
W 16 24 24 32 32 24 24
(1) RIEBANEEX

(2) F=NEBESEHTRS

10



HTCRES(NTS, imosELLi=16~55) -RY

L8
L7 L6 L2
L4 3|
T A
il m~
(=] q —| o S|~
(= o] O | &
= SIS B S
n =
= J
AN |
H [ |
= L]
i Sh
R HTCR090 HTCR 110 HTCR 140
D1 36 46 60
D3 63 80 100
D4 hr 90 110 140
D5 109 135 168
D6 - -
D7 120 147 180
D8 55 5.5 6.6
D9 94 116 163
L2 325 315 40.5
L3 0% 95 10
L4 T 8 10
L5 13 17 25
L6 90.5 114 147.5
L7 53 68.3 89
L8 176 213.8 277
19 1145 129 1735
u e 225 22,5 15
W 16 16 24
(1) RY58ETEEX

11

208 (Wx)

HTCR200 | HTCR255
80 ' 90
160 \ 180
200 255
233 ‘ 280

: M12
2495 ] 302
9 135
210 i 210
52.5 68.5
11 I 16
12 18
31 ! 31
175 1915
115 ! 115
3425 375
228 \ 228
15 1125
24 | 32

HTCR 285

120
200
285
310
M12
332
135
255
T1.5
19
20
36
249.5
131
458
265.5
11.25
32

LOWENSTEIN

HTCR 355
120
250
355
385
M16
415
175
300
82.5
22,5
45
43
290
165
5375
294.5
15
24



LOWENSTEIN

HTCRZS(=T, imiELLi=64~385) -RT

L8
L7 L6 B @D8 (Wx
L4 13]
— o
i~
T | !
u
7 I
[o )] 1~ | =i~
[=) olalglo
a HESHSIFRlES
| il S
=
N
(=2}
=1 R
1 (1)
] ]
Rt HTCR 110 HTCR140 HTCR 200 HTCR 255 HTCR 285 HTCR 355 HTCR 450
D1 46 60 80 90 120 120 132
D3 80 100 160 180 200 250 315
D4 h7 110 140 200 255 285 355 450
D5 135 168 233 280 310 385 490
D& - - - M12 M12 Mle Ml6
D7 147 180 2495 302 332 415 530
D8 1505 6.6 9 135 13.5 17.5 22
D9 94 116 163 210 210 210 255
L2 315 40.5 52.5 B8.5 775 82.5 875
13 95 10 11 16 19 22.5 225
L4 8 10 12 18 20 45 60
LS 13 I 25 31 31 31 36
L& 132 164 216.5 2545 300 332 4475
L7 3 68.3 89 115 115 115 131
L8 216.5 272.8 358 438 492.5 529.5 bb6
L9 1145 129 1735 228 228 228 265.5
Ui 22.5 15 15 1125 11.25 15 15
W 16 24 24 ) 32 24 24
(1) RY55&NEEx

12



HTCREZI(PUTS, moELLi=400~5500) -R~ LOWENSTEIN

L8
L7 L6 L2 @D8 (Wx)
L4 |3 |
—_—
7
i
~

D Ll 2] e

o o|o|«| o

= Qeo s

=
_
N
q J
L _ —
. (1)
i

R HTCR110 HTCR140 HTCR 200 HTCR 255 HTCR 285 HTCR 355 HTCR 450

D1 46 60 80 90 120 120 132
D3 80 100 160 180 200 250 315
D4 hi 110 140 200 255 285 355 450
D5 135 168 233 280 310 385 490
D6 - - - M12 M12 M16 M16

D7 147 180 2495 302 332 415 530
D8 55 6.6 9 135 135 17.5 22
D9 94 116 163 210 210 210 255

L2 315 405 525 68.5 775 825 87.5

L3 95 10 11 16 19 245 22,5

L4 8 10 : 18 20 45 60

L5 13 17 25 31 31 31 36

L6 132 164 216.5 254.5 300 332 4475

L7 53 68.3 89 115 115 115 131

L8 216.5 2728 358 438 4925 5285 666

L9 1145 129 1735 228 228 228 265.5
u () 225 15 15 11.25 11:25 15 15

W 16 24 24 32 32 24 24

(1) R~ 55&ErEEX

13



LOWENSTEIN

HTRARFICNTS, FELLi=4~11) 1488

AR
090 110 140 200 255 285
4 75 510 845 1728 2805 5545
5.5 105 440 745 1665 2590 4700
BUER IR TN Nm 2
8 150 525 845 1584 2610 5680
11 210 455 765 1710 2655 4300
BAREIHE Tonor Nm 2 4-11 ASEER HSIFE Ton
B ANNESIHET s Nm 2 41 1. 5{EERE HETon
ZSESEED Nm 2 4-11 2.5 5.8 12 25 48 95
EFEER arcmin 2 4-11 <?2
TR Nm/arcmin 2 4-11 27 56 112 389 642 1275
SRR NS RN rpm 2 411 3600 3000 2300 1800 1500 1100
BN FEEN 5 rpm 2 41 6000 5500 4500 3500 3000 2200
BRI RERF,, @ N 2 41 2220 4070 8530 17000 26900 39200
A AEM, @ Nm 2 41 280 480 1310 3530 5920 9230
fERE®® hr 2 4-11 20000
ERRE °C 2 4-11 -10°C ~ 90°C
yagiak-=4d 2 4-11 IP65
pEh=] 2 4-11 AREEE
LTI 2 4-11 (ET=vall|
IREE® dB(A) 2 4-11 <68 <68 <70 <70 <72 <74
N % 2 4-11 > 95%

14



(1) WEHZ(I: Nin/Nout)

(2) dBEEHRARIS11H(ZT) HOREREH, 7E3000RPMEBRIAAIMRANEE FLAHENER FUEMmS.

BIRARATEFN/EEERIRPM, IRES/KEE]
(3) EIEEIREE2 %HIEER H AT, TG
(@) WHEEE100rpmig, (ERTAZ/MERETL, HEARIESERIR
(5) FEENELDEREN

TEE

REL

HTR 090 HTR 110 HTR 140 HTR 200 HTR 255

5

oI NHEE(

14
19
24
28
32
35
38
42
48
55
60

C3)

kg-cm?

041
041
1.61
39

BER=3Z5dB,

1.61
4.01
553
7.57
14.95
17.58

5.61
5.61
8.11
15.32
17.72
22.95
52.74

15

15.32
17.72
22.95
52.74

HTR 285
X

55.14
89.59
113.06



HTREFIONTS, miEti=4~11) -RY

L7

L2

a 9|

L4

L3

L9

HTR 090 HTR 110 HTR 140 HTR 200 HTR 255 HTR 285
40 50 80 100 100

r===F==1

(1)

D1h7 315
D2 50
D3 h7 63
D4 h7 90
D5 109
D6 x Pitch x Deep M6x1Px11
D7 120
D8 5.5
D9 92
L1 15
L2 30
L3 7
L4 7
L6 100.5
L7 61.5
L8 192
L9 1135
X(°) 30
Y (%) 30
z 12
u() 22,5
W 16
(1) RIEEANEEX

(2) EFEZENEBESEHTRS

63
80
110
135

M8x1.25Px12

147
55
116
15
29
7
8
124.5
76
229.5
1475
30
30
12
22.5
16

@D 1 H7
@D 3 h7
@04h7
@07

L1

80

100
140
168

M8x1.25Px15

180
6.6
156
15
38
7.5
10
1755
975
311
196.5
22.5
22.5
16
15
24

16

@D8 (Wx)

LOWENSTEIN

125
160
200
233

M10x1.5Px20

2495
9
156
16
50
85
12
185
975
3325
196.5
225
225
16
15
24

140
180
255
280

M16x2Px25

302
13.5
195
16
66
13.5
18
199
105.5
370.5
229
24
24
12
11.25
32

160
200
285
310

M24x3Px37

332
13.5
240
16
75
16.5
20
265.5
141
4815
260
26
26
12
11.25
32



HTCREFNI(NT, miEki=4~11) -RT

D9

L9

Rt
D1
D3

D4 h7
D5
D6
D7
D8
D9
L2
L3
L4
L6
L7
L8
L9

u)
W

(1) RYEZETEER

L8
L7 } L6 L2
L4 3
———
|
| ~
i = o=~
ao|lal<s|
alalala
/ % i
i L
i
i
i : (1)
b
~r t
1
HTCR 090 HTCR 110 HTCR 140
36 46 60
63 80 100
90 110 140
109 135 168
120 147 180
5.5 5:5 6.6
92 116 156
325 315 40.5
9.5 95 10
T 8 10
100.5 1245 1755
61.5 76 97.5
1945 232 313.5
1135 1475 196.5
225 22.5 15
16 16 24

gD8 (Wx)

HTCR 200

80
160
200
233

2495

156
52.5
11
12
185
IS
335
1596.5
15
24

HTCR 255

90
180
255
280
M12
302
13.5
195
68.5

16

18
199

105.5
373
229

11525

32

LOWENSTEIN

HTCR 285
120
200
285
310
M12
332
E3h
240
715
19
20
265.5
141
484
260
11.25
32





